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g`pOfpgWo 
(\¥Op^r EdXp) 

SOCIOLOGY  
(Punjabi Version) 

g`p£ gr`p £ : 3 K¥Ry   \vc²¾ A¥H : 80 
Time allowed : 3 hours Maximum Marks : 80 

 qHc\p HcHy q²¾crIV Hc} de} qH qBg \of²¾ \§Wc Wy N\y h}By 5 \¥²y¾ h²¾ & 
 \of²¾ \§Wc Yy E¨\c g§Oy h§X qY§Wy JBy H}T ²¥¾. ²¥¾v \orqIApcXr E¨Wc \tgqWHp Yy 

`t§I \¥²y¾ Wy kcvc qd§IV & 
 qHc\p HcHy YyI de} qH qBg \of²¾ \§Wc qeM 25 \of²¾ h²¾ & 
 qHc\p HcHy E¨Wc qdIVp ftcv Hc²¾ W~ \qhdp£, \of²¾ Yp n`p£H (grqcAd ²¥¾^c) kcvc 

qd§I} & 
 qBg \of²¾ \§Wc ²¥¾v \mª²¾ Yy dBr 15 q`¥R Yp g`p£ qY§Wp qJAp h± & \of²¾ \§Wc 

geycy 10.15 eOy e¥Ty OpVJy & 10.15 eOy W~ 10.30 eOy WH \orqIApcXr Hyed \of²¾ 
\§Wc ²¥¾v \mª²¾Jy AWy qBg g`y qeM Eh E¨Wc \tgqWHp qeM H}Br E¨Wc ²¾hr 
qdIVJy & 

  Please check that this question paper contains 5 printed pages. 

  Code number given on the right hand side of the question paper should be 
written on the title page of the answer-book by the candidate. 

  Please check that this question paper contains 25 questions. 

  Please write down the Serial Number of the question before 
attempting it. 

  15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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qeAp\H q²¾cYyf : 

(i) \of²¾p£ Yr Htd g¥qIAp 25 h± & 

(ii) gpcy \of²¾ kcvcr h²¾ & 

(iii) \of²¾ g¥qIAp 1 – 14 WH ^htW N}Ry E¨Wc epdy \of²¾ h²¾ & hc qBH 
\of²¾ Yy 2 A¥H h²¾ & qB²¾ªp£ M~ hc \of²¾ Yp E¨Wc 30 f^Yp£ W~ eZ 
²¾hs h}Vp MphrYp & 

(iv) \of²¾ g¥qIAp 15 – 21 WH d¥^y E¨Wc epdy \of²¾ h²¾ & hc qBH \of²¾ 
Yy 4 A¥H h²¾ & qB²¾ªp£ M~ hc \of²¾ Yp E¨Wc 80 f^Yp£ W~ eZ ²¾hs h}Vp 
MphrYp & 

(v) \of²¾ g¥qIAp 22 – 25 WH ^htW d¥̂ y E¨Wc epdy \of²¾ h²¾ & hc qBH 
\of²¾ Yy 6 A¥H h²¾ & qB²¾ªp£ M~ hc \of²¾ Yp E¨Wc 200 f^Yp£ W~ eZ 
²¾hs h}Vp MphrYp & \of²¾ g¥qIAp 25 Yp E¨Wc qY§Wy h}By \±cy Yy ApZpc 
Wy YyVp h± & 

1. Ap^pYr (O²¾g¥qIAp) Yr Apav g¥cM²¾p Yp Hr AcX h± ? 2 

2. Eh qHhmy Y} `hWe\vc²¾ Hpc²¾ g²¾ qO²¾ªp£ HcHy O²¾OpWr A¥Y}d²¾p£ Yp O²¾` 

h}qBAp ? 1+1=2 

3. dyg-By-³yac (AhgWIy\) Yp Hr AcX h± ? 2 

4. IyWcepY ²¥¾v EHgpV epdy H}Br Y} HpcH qd§I} & 1+1=2 

5. KR qJVWrAp£ ²¥¾v g¥qeZp²¾H gtcqIAp qHE¤ qYWr OpVr MphrYr h± ?  2 

6. ^gWrepYr H²¥¾v²¾ qHez Mph ^pJp²¾p£ Yy `pdHp£ AWy \o^¥ZHp£ Yy \§I qeM g² ¾? 2 

7. g¥gqnWrHcV Yp AcX \qcecW²¾ Yr \oqHqcAp Yy cv\ qeM qeApqIAp Hc} & 2 

8. hyS¾dy \Z§c Yy d}Hp£ ²¥¾v q²¾Ap£ qYepV Yy dBr q²¾Ap£ \¥MpqBWp£ Yr Hr _vq`Hp h± ? 2 
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9. ^±²y¾qTHR BzTcg²¾ cphs qdIy JBy erMpc ‘Hd\²¾p g`tYpBy’ Yy ^pcy Wtgs Hr 
g`PYy h} ? 2 

10. cpfRcr Y±q²¾H Hr ht¥Yy h²¾ ? qHgy Y} Yy ²¾p` qdI} &  1+1=2 

11. g`pMpc \Wcp£ Yy IyWc qeM ge±Mpd²¾ (automation) ²¾pd Hr \qcecW²¾  

ApBy ?  2 

12. qeAp\H ^pdJ `W AqZHpc W~ Wtgs Hr g`PYy h} ? 2 

13. ^¥^y H\mp q`d `kYvcp£ YrAp£ ¥̀Jp£ Hr g²¾ ? 2 

14. gtZpcepYr AWy np£WrHpcr A¥Y}d²¾p£ Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & 1+1=2 

15. O²¾A¥Hmp qeqJAp²¾rAp£ AWy g`pOfpgWorAp£ Yy A²¾®gpc _pcW qeM  

^pd-qd¥J A²¾®\pW qeM H`r ApV Yy Hpc²¾ Hr h²¾ ? 4 

Op£ 

_pcW qeM IyWcr \oqWgXp\²¾ (AYdp ^Ydr) Yy gWc Yy IyWcr qeqeZWpep£ Yy 

Hpc²¾ qd§I} &   

16. ‘O²¾OpWr d}Hp£ ²¥¾v ^pHr _pcWr g`pO Yy qeHpg Yy dBr A²¾®\pW W~ eZycy 

Hr`W MtHpVr \Br &’ ‘cpfRcr qeHpg’ AWy ‘O²¾OpWr qeHpg’ qeM g¥Kcf 

Yy gc}W E\c \oHpf \pG &¾ 4 

17. Hr Wtgs qBg Jd ²¾pd gqh`W h} qH _pcW qeM EYpcrHcV Yr ²¾rWr ²¾pd 

gpcy ecJp£ ²¥¾v dp_ h}qBAp h± ? EYphcV Yy Hy A\Vy EW§c Yr gMpBr qgZ 

Hc} &  4 

18. d}HW¥Wcr AWy AqZHpcH (gW§pepYr) cpO Yy Ycq`Ap²¾ A¥Wc g\fR Hc} & 2+2=4 

Op£ 

_pBrMpcH \NpV Hr ht¥Yr h± ? _pcWr ²¾rWrAp£ cpfRcr \qhMp²¾ ²¥¾v qHez 

EWfph YzYrAp£ h²¾ ?  4 



223 4 

19. qBqWhpgH W¡c Wy WRecWr ²¾Jc gp`cpOp£ Yr AcXqeegXp qeM Hr _vq`Hp 

q²¾_p£Yy g²¾ ? 4 

20. ‘e§I} e§I g`pO gtZpc A¥Y}d²¾ qBH} qefy E\c AZpqcW h}V Yy ^peOvY AT} 

AT g²¾ &’ qeApqIAp Hc} & 4 

21. \¥MpqBWp£ YrAp£ g`pOH Ot`zepcrAp£ Hr ht¥YrAp£ h²¾ ? 4 

22. hqcW Hcp£Wr Yy dp_ AWy hp²¾rAp£ Yp dyIp-O}Ip Hc} &  3+3=6 

23. Hr _v`¥Tdr (Jd}^d) g¥^¥Z _pcW AWy g¥gpc Yy dBr ²¾ez h²¾ ? qeApqIAp 

Hc} &  6 

24. IpVp£ qeM H¥` Hc²¾ Yy hpdpW `kYvcp£ Yy dBr qHez hp²¾rHpcH h± ? 6 

25. hyS¾ qY§Wy \±cy ²¥¾v \mª Hy Eg hyS¾ qYWy JBy \of²¾p£ Yy E¨Wc qd§I} :  

_pcW qeM ‘Aa}J’, ‘`¥Y^t§Zr’, ‘Ag`cX’, ‘A\¥J’, ‘A¥²¾ªp£’ AWy ‘T}cp’ Ohy 
qefyfVp£ Yr ecW} dJ_J qBH hr _pe ²¥¾v YcgpV Yy dBr HrWr Op£Yr h± & 
Ap`W¡c Wy qHgy qeAHWr Yr ^yqBkWr Hc²¾ Yy dBr Eg Et\c qB²¾ªp£ f^Yp£ Yr 

epNm HrWr Op£Yr h± & qBH AOyhp gq_ApMpc qOg qeM gcrcH ‘g¥\vc²¾Wp’ 

Yp ApYc HrWp Op£Yp h}ey & ‘\vcp gcrc’ ²¾p h}V Yp AcX h± Eg qeM H}Br 

AgpZpc²¾Wp, Y}f Op£ Icp^r h± & ‘qeMpcp’ f^Y Ohy qefyfVp ²¾pd g¥^}Z²¾ 
Hc²¾ ²¾pd Wp£ EgYr YtIr hpdW h}c er q_Ap²¾H h} Op£Yr h± & AOyhr g}M Yp 
`vd Hpc²¾ Eg gq_ApMpcH Zpc²¾p qeM fp`d h± qOhmr Ag`cX Op£ Y}f 
\vc²¾ gcrc ²¥¾v `¥Yy _pJp£ Yp ²¾WrOp `¥²¾Yr h± & qHg`W ²¥¾v Hgvcepc AWy 
Aa}J qeAHWr ²¥¾v Eg Yp qfHpc `¥q²¾Ap Op£Yp h± & Ap` g}M qBh h± qH 
A¥JhrVWp \vc^dy Hc`p£ Yp ³d h± AWy Eg W~ ^qMAp ²¾hs Op gHYp & qBg 
Wcp£ _pcW qeM \oMqdW \o`tI gq_ApMpcH Zpc²¾p AWy ^VWc qeHdp£JWp ²¥¾v 
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kcvcr W}c Wy qeAHWr Yr qefyf hpdW `¥²¾Yr h± qOg²¥¾v Eg qeAHWr ²¥¾v 
_tJWVp \|Yp h± & \tcpVH HXpep£ qeM qeHdp£J Yp O} qM§Wc²¾ HrWp qJAp h± 
Eh ^htW hr ²¾HpcpW`H h± & 

f^Y ‘A¥JhrV’ E\cdrAp£ gpcrAp£ Zpcpep£ ²¥¾v ²¾HpcYp h± & ‘`p²¾gH 

e¥JpqcAp Op£ `p²¾gH cv\ qeM MtV¡WrJogW’ (mentally challenged), ‘qYofRr 

qeHdp£J’ (visually impaired) AWy gcrcH cv\ Wy Ag`cX (physically 

impaired) Ohy f^Yp£ Yr ecW~ htV \tcpVy qKgy q\Rr ²¾HpcpW`H _pe epdy 

f^Yp£ qOez qH ‘`¥Y^t§Zr’, ‘A\¥J’ Op£ ‘d¥Jmp-dvdp’ ApqY Yy Xp£ HrWr OpV 
dJ \Br h± & qeHdp£J Ap\Vr O±qeH (biological) Ag`cXWp Hpc²¾ hr 
qeHdp£J ²¾hs ^dqH g`pO hr E²¾ªp£ ²¥¾v AOyhp ^Vp£Yp h± & 

(a) gpTy Yyf qeM Ag`cX g`pO H¡V ^Vp£Yp h±  ? 2 

(b) Hr Wtgs g}MYy h} qH Ag`cX qeAHWr Ap\Vr O±qeH Ag`cXWp Hpc²¾ 

hr qeHdp£J ²¾hs ht¥Yy, ^dqH g`pO hr E²¾ªp£ ²¥¾v AOyhp ^Vp£Yp h± ? 

qeApqIAp Hc} & 4 

 


